Year 7 Homework


Algebra - collecting like terms

Q1. Simplify the following expressions

a) a + a + a + a

b) b + b + b + b + b+ b
    c) 2a + 3a

d) 3f + 2f + 6f

e) t + 2t + 9t + 2t                  f) 2c + 3c + 4c

g) d + 2d + 3d + 4d

h) 10h + 5h + 13h + 8h          i) 12f – 4f
 

j) 5e – 4e                         k) 10b – 2b – 3b - b
              l) 12a – a – a – 9a

m) 10g + 3g – 2g

n) h + 3h – 2h + 2h – 3h        o) 4a - a – 5 - 2a + 5

p) 4n – 5n + 2 + 1              q) 3z – 4 – 2z + 6                  r) n + 2 – n - 2

Q2. Simplify the following expressions

a) a + 2b + a

        b) 2a + 3b – a             c) a + 5b – a – 2b

d) 2a + 3b – a – 3b          e) a + b + a + c           f) 2a + 6b + 4c + b + 4c

g) 8a + b – c – 7a
        h) 4c - 2d – 2c – 3d    i) 3y + b + 2b – y + 8

Q3. Tom buys three CDs and two DVDs.

Write down an expression for the cost of Tom’s shopping.

Use c for the cost of one CD and d for the cost of one DVD.

Q4. Look at the following expressions.  Which do you think are easy?  Which look the hardest?  Put them in order from easiest to hardest and then simplify. What mistakes do you think other people may make when simplifying each one?

a) 6c – 7c + 2


b) 4d + c – d

c) ab – b + 2a + b + ab

d) a² + 2a²

e) 2a + 2 + 2b


f) 2y -3 - y – 2 – y + 5 

